
890 Installation Kit

HA468432U001 Issue 5

Item Description SSD Part Number Qty
890CS : Common Bus Supply

Ground Terminal M6 small CI465312 1B Ground Terminal M6 large CI470521U001 1
C Cup Washer M5 FX463522 2
D DIN Clip BA465900 4
E Control Bracket BA465887 1

Screw Assembly M4 x 10mm FY385649 2

Screw Assembly M5 x 12mm FY468470U012 8

Nut Assembly FZ463232 1

Busbar Insulation 15mm BC465938U015 2
Busbar Insulation 200mm BC465938U200 1

F Shield Bonding Clip 8mm ∅ CI465892U008 1
Screwdriver JA465841 1
Allen Wrench JA465842 1

890CD : Common Bus Drive
A Power Bracket BA465888 1
B Ground Terminal M6 CI465312 1
C Cup Washer M5 FX463522 2
D DIN Clip BA465900 4
E Control Bracket BA465887 1

Screw Assembly M4 x 10mm FY385649 4

Screw Assembly M5 x 12mm FY468470U012 10

Busbar Insulation 200mm BC465938U200 1
F Shield Bonding Clip 8mm ∅ CI465892U008 1

Terminal Wiring Label GA469181 1
890SD : Standalone Drive

A Power Bracket BA465888 2
B Ground Terminal M6 CI465312 2
C Cup Washer M5 FX463522 2
D DIN Clip BA465900 4
E Control Bracket BA465887 1

Screw Assembly M4 x 10mm FY385649 4

Screw Assembly M5 x 12mm FY468470U012 10

F Shield Bonding Clip 8mm ∅ CI465892U008 1
Screwdriver JA465841 1
Terminal Wiring Label GA469181 1

F  : Shield Bonding Clips
For larger sizes contact SSD Drives.

Part Numbers:
CI465892U014 - 14mm ∅
CI465892U020 - 20mm ∅

*HA468432U001*

A

B

E

F

D
C
B

D
C
B

E
F

B
A

F

B
890CS

890CD
&

890SD

-+

D 890CS

890CD
&

890SD

AC
B D :

:
= 5 Nm
= 2-3 Nm

C

B
A

F


